931F

[
1
[ A

11931

5
\
v/

/

/ olnl (oMl 6940 “‘d
\)P 629U g Clinizi pgle ©yl59 3
LS ijgel s glojlu
‘ 298 Rigel e ploj S Mol oLl L
«..)9‘5‘5& c}Lal cSdew
Q. YEANYNY (83) o plol
(1YAY uS) (comi (cwinigo
Y 15w 8 )lols g dlui « dilxiol d1g0 yleie
Syl 6 | 8leus 1 | Jlims Slasi Slxiel Slge s,
\ Yo (oK) puads g gogos L) \
f. v$ 1 (Yh) ol > Jlist Y
$o 3 Y. Saclydgey | T
va £ 0 Yl SeilSeo ¥
3. vs 1 ol Jyus | o
“' LA Y. ("3\) ..\.'>15 QL_»_.Lo.c’rn).'? JLM‘ I
o " 0 ot o gl 55557, b0 Y
Fo \\t4 Ye (oas (g0 m)l5) wlusl, A
41 ke 5305 39051 o3 ] [ i o olan ol 31 00 liiun!

o

Sgingo 1o o g3t (lliie b g il o0 Jevo (il v (ot 9% b gl S g 9 Al PR (ooled (13t 43903T (81155 32 31 o (omeg (Sl SI) (539 92 41 SN UG 9 S5 el 3 ]




Y axbo @@@ 931F @e@ YOV o) (souds (swisieo

! (53031 e 53 Lo ygua> pis & oy <y § Jgu il joie 10 Ll g Slaskie z )0 pas (ol )5 cdbglo

b ogs oo bylois 3390k e JolS BT U oo D815 85Louis b s ol
ous 30 J S uS g £95 Yl A i85 g aoligiwly (SYU cader 43 39,9 O, (YL 40 7 judo (dbgle 5yl
lod oo am U 1 placligewly crmly 9 ©¥15m &2 o wlo (59 »

gl Sl) (paradii 5 ogos HUj

PART A: Vocabulary

Directions: Choose the word or phrase (1), (2), (3), or (4) that best completes each sentence.
Then mark the answer on your answer sheet.

- eye contact with your audience while giving your presentation.
1) Take 2) Insure 3) Direct 4) Make

2- I e hold true, future global population growth will be heavily concentrated in
Latin America, Africa, and South Asia.
1) projections 2) inclinations 3) interventions 4) realizations

3-  Warning: Anyone caught stealing from these premises will be ---------- .
1) exonerated 2) intensified 3) prosecuted 4) legitimized

4-  The manager’s inflammatory comments are just ---------- an already difficult situation.
He should think before he opens his mouth next time.
1) challenging 2) exacerbating 3) dispelling 4) affirming

5-  The internet seems to have almost ---------- every mode of communication ever invented!
1) captivated 2) superseded 3) allocated 4) commenced

6- The woman is known as an ---------- woman because she gives away millions of dollars
every year to various charities.
1) economical 2) aesthetic 3) unforeseen 4) altruistic

7-  Jen takes medicine at the first sight of a/an ---------- headache; Lin, by contrast, resists
taking medicine even when she’s really sick.
1) incipient 2) skeptical 3) ambiguous 4) credible

PART B: Cloze Test

Directions: Read the following passage and decide which choice (1), (2), (3), or (4) best fits
each space. Then mark the correct choice on your answer sheet.

Teachers play various roles in a typical classroom, but surely one of the most
important (8) ---------- classroom manager. Effective teaching and learning cannot take
place in (9) ---------- . If students are disorderly and disrespectful, and no apparent rules
and procedures guide behavior, chaos becomes the norm. In these situations, both
teachers and students (10) ---------- . Teachers struggle to teach, and students most
likely learn much less than they should.
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8- 1) being 2) of those are 3) is that of 4) ever to be is
9- 1) aclassroom is poorly managed 2) a managed classroom poorly

3) a poorly managed classroom 4) managing poorly a classroom
10- 1) suffer 2) they are suffered

3) to suffer 4) suffering

PART C: Reading Comprehension

Directions: Read the following three passages and answer the questions by choosing the best
choice (1), (2), (3), or (4). Then mark the correct choice on your answer sheet.

PASSAGE 1:

Conventional materials used for structural applications include a number of different
steel grades based on chromium content. Chromium oxidizes to generate a protective
chromium oxide surface layer.

Carbon steel and galvanized steel are the least resistant to corrosion. Steels alloys
such as austenitic stainless steels and duplex stainless steels are comparatively much
better corrosion-resistant alloys.

Alternative corrosion-resistant materials include copper alloys such as brass and
bronze, in which the copper oxidizes to create a protective oxide layer. Metals including
titanium and tungsten are vulnerable to galvanic corrosion; they exchange ions and
corrode locally. In comparison, fiberglass is superior to traditional corrosion-resistant
materials. Fiberglass is a composite material that uses a polymer resin matrix reinforced
by embedded glass fibers. It has unrivaled chemical resistivity, specifically where
corrosion is concerned. The interlaced structure of fiberglass makes it fundamentally
impervious to water and other corrosive, alkaline environments.

Fiberglass is exceptionally lightweight (~80% lighter than steel) with a remarkable
strength-to-weight ratio and thus improves the component's performance. Fiberglass can
be fabricated easily into complex shapes, thus offering greater manufacturing flexibility.
Installing other electrically conductive materials, such as brass, steel, etc., in swimming
pools poses a risk of electrical accidents. Thanks to its electrically non-conductive
nature, fiberglass means such mishappenings are avoided.

11- What does the passage mainly discuss?

1) The applications of polymer matrix composites

2) The high corrosion-resistant materials

3) The benefits of using fiberglass over other materials

4) The comparison between conventional materials with composite materials
12- Carbon steel and galvanized steel, as referred to in the passage, ---------- .

1) have the least chromium content

2) have low process of ion exchange

3) are the most commonly used stainless traditional steels

4) include austenitic and duplex stainless steels
13- The word “vulnerable” in paragraph 3 can be replaced with ---------- .

1) prone 2) additional 3) protected 4) suitable
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14-

15-

18-

19-

It’s stated in the passage that fiberglass ---------- .

1) has unrivaled performance in structures

2) has the highest strength-to-weight ratio

3) is a fiber-reinforced material using glass fiber

4) facilitates the plasticity of complex materials

All of the following, based on paragraph 2, are characteristics of fiberglass EXCEPT -------- .
1) low conductivity like brass

2) low moisture absorption

3) high tensile strength

4) high resistance to chemical agents

PASSAGE 2:

The rapid development of organometallic chemistry and catalysis in the recent decades
has changed the face of modern chemical science and has made numerous breakthrough
contributions to organic synthesis, pharmaceutical applications, chemical industry,
materials science, energy research, and several other areas. Fundamental insights into
the structures, properties, and reactivities of stable organometallic complexes and highly
reactive intermediate species have driven paramount progress in the field. Nowadays,
the ubiquitous use of metal complexes and nanoparticles as catalysts, as well as of
metal-containing compounds as reagents, is an inherent component of chemical
transformations and synthesis. Even more cutting—edge opportunities are expected in
such areas as the development of selective catalysts to build molecular complexity, the
tuning of nanoparticle reactivity with atomic precision, and the rational design of bio-
catalytic reactions with metal-containing active centers in enzymes.

Such widespread use of metal compounds has highlighted the significance of
environmental and toxicity issues. Minimization of inevitable harmful effects on living
organisms and maintenance of cost-efficient solutions are required for sustainable
development. The analysis of a complete life cycle of chemical processes (including
recycling, waste management, and penetration of metal traces into the environment)
emphasizes the importance of understanding the toxicity of metal compounds.

Which one is NOT true about organometallic compounds?

1) They have contributed to the medical industry.

2) They led to the revolution in modern chemical science.

3) They need to be revitalized to reach the paramount progress.

4) They have had a tremendous impact on modern organic synthesis.

All of the following, according to the passage, are essential items of chemical transformation
and synthesis EXCEPT ---------- .

1) nanoparticles 2) metal complexes

3) molecular compounds 4) metal-containing compounds
The phrase “cutting-edge” in paragraph 1 is closest in meaning to ---------- .

1) unexpected 2) excellent 3) sufficient 4) immediate

In paragraph 2, the author ---------- .

1) analyzes the complete life cycle of chemical processes

2) advices chemists to manufacture metal compounds with no harmful effects

3) presents cost-effective solutions for sustainable development

4) emphasizes finding solution for reducing the adverse effects of metal compounds on
ecosystem
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20-

21-

22-

23-

24-

The next paragraph most likely is about ---------- .

1) dealing with general aspects of metal toxicity

2) recent tremendous progress in environmental issues
3) studies on mechanism of hazardous substances

4) applying environmentally friendly materials

PASSAGE 3:

In chemical engineering, design usually refers to design of equipment or design of all
or the major part of a chemical processing plant considering safety and economic
aspects. But what are the perspectives of design in chemical engineering?

It differs from design in most engineering disciplines in that the design cannot
possibly be built by students and tested for correctness. It is difficult to give students
hands-on experience through their design experience. Chemical engineers rely on
sciences, engineering methods, experience and ingenuity to develop processes and
equipment required for economical production of useful products. Chemical engineers
have contributed to the development of various materials such as chemicals and
petroleum products, plastics, pharmaceuticals, fertilizers, foodstuffs, rocket propellants,
etc. They have influenced the development of many fields, some of which are fuel cells,
automatic controls, water desalination plants, and artificial kidneys. The types of design
projects are yirtually unlimited and their foundations are engineering sciences with
emphasis on chemistry and biology.

Recently, green chemistry has been recognized as an important component of the
chemical engineering curriculum. Green design has emerged as a result of a general
philosophic shift from waste management to pollution prevention. As a consequence,
design of processes should be done while minimizing generation of pollution at the
source and risk to human health and environment. Environmental considerations such
as resource conservation and waste minimization should be used at all phases of the
product and process life cycle to guide selection of design alternatives.

The passage is primarily about ---------- .

1) major parts of a chemical processing

2) aspects of design in chemical engineering

3) specification of construction in a chemical plant

4) chemical plants and engineering disciplines

The most important factors must be considered in designing in chemical engineering are

1) experience and multidisciplinary 2) safety as well as economic aspect

3) design system and testing correctness  4) production and engineering methods
In most engineering disciplines, design ---------- .

1) cannot be defined through hands-on skills

2) relies mostly on experienced and ingenious persons

3) is a collaborative and prolonged experience

4) is carried out by unexperienced people

The word “virtually” in paragraph 2 means ---------- .

1) nearly 2) apparently 3) potentially 4) supposedly
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25- According to paragraph 3, all green design phases should be done ---------- .
1) through selection of various alternatives for increasing the production
2) based on considering the health of human-being and environment
3) by recognizing the important components of the chemical engineering curriculum
4) according to conventional philosophical and management approaches
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